2N IS
M SHIS AY(LLISIHY/UBEE)
el FE1sS 2l (CHo: X 2l)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
SIS 519,068 481,122 37,946
SIS A (LB DT/ ALIHE) 370,320 338,134 32,186
g31s 22 175,426 125,402 50,024
EAb2tel 6,980 5,900 1,080
201 L2 6,980 5,900 1,080
01 AtR2t2|H 1,080 0 1,080
OFA HAD| HIOIAS L AR
90,00024% 122 1,080
02 S229| 5,900 5,900 0
OAE Sz 1,500,000 % 14! 1,500
OXES XL 3,000
—agEEN 1,81021,104.972IE 2,000
— SR (XN 1,000,0002*1CH 1,000
O] & &Y RXIL4H|
200,0002+75 1,400
SAERPe 9,941 9,941
101 Q14| 6,757 0 6,757
M4 IR2ENEES 6,757 0 6,757
Ot ol
76,9602 %1 H+80*13] 6,157
OdtHlEtet 22X 404 282
600, 0002 x 1Al 600
206 THEH| 3,184 3,184
01 THEH 3,184 0 3,184
OshHge R
312 21,92020%2002| 384
ORI £+ A3, 5002 *8002 2,800
Hols |22 9,720 9,480 240
201 LB 9,720 9,480 240
02 3229 9,720 9,480 240
OEots 42l 9,720
—2os =il 60,0002 *4055*40/ 100 9,720
SHH2CCTVR A2 1,200 1,200 0
201 L2y 1,200 1,200
02 2229 1,200 1,200 0
OgrHE o0V M3
5,0002* 154 Ax 12 900
OgrHE TV SXIZ2/H|
50,0002 * 154 2*40/100 300
2EZS} ALY 48,467 15, 164 33,303
101 I2AHI 40,187 13,384 26,803
M4 IR22TEES 40,187 13,384 26,803
OOIOI AT THERZ At (4D, M) oY
76,9602 * 181293 12,468




2A: EHIS
NI SIS A (LUIBIHE/LCIEH)
el FE1S 2 (Crel: &)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
OSGFXH (2SR TN 25 L |
olgel 8,631
-J=2 28,8602%240 6,927
—F54d 28,86021*48F 1,386
—RESEINY 28,8602% 11 318
OZ28 2 Mg EHD| 2
76,9602 x 10 *22+33] 4,618
OZEZASIAIY (B2 XA, ZER ) o2
76,9602 42 x5 33 4,618
O2EsFA 2| 218 8,852
== 76,9602 * 1290 6,927
—F5LG 76,9602 % 1%x20 1,540
—ARSEISY
76,9609+ 1 %5 385
OZEsIEA 2| o8 282
1,000,0002* 14! 1,000
201 LB 6,760 1,160 5,600
01 AF22t2IHI 1,360 1,160 200
OJ2IIHY =l LRt 50,0002/ %103 500
OuFII S bl 22/l
50,0002 *35+23] 300
O2=stxAl el 22 7Y
360,000 % 14! 360
OZ2LZXH S =Hl ARt
100,000 %23 200
02 232%H| 5,400 0 5,400
OS=stEa dIIRs 250,000 %122 3,000
OZE3EA QXL 200,000 %122 2,400
206 &l 620 620 0
IR 620 620
OJzste 9 sietael 300
—HHS YN 2H P
10,0002%105 100
—ElHl € "Hlg 72 5,000 *x5E+43] 100
—ZYPET 7Y 5,000 *5Z+43] 100
O sihe|AFY 320
—HHE YN 2H 2
10,0002%105 100
—€lH] 2 Hg 7
5,000 *10E 23] 100
—2QZE 2,22 £ ¢
20,0002 *3Z23] 120
405 XHAHE SH 900 0 900
01 XL SEF SH 900 900
OulFD| 2 450,000 =204 900




M - B2 - S9I(310) - NIRAIS - BAS ] B2t
s FUNH 29 5,724 5,364 360
01 LB H] 5,724 5,364 360
01 AF22t2IHI 3,120 2,760 360
odesl| e 35,000 21+2CH* 122 840
OB 40 HI= 60,000%123] 720
OAREE 2 AQE ¢
100,000 % 12 1,200
Otltlas ¥ Xtz 30,000 12€ 360
02 2Z2%H| 2,604 2,604 0
OFOIXXIME AILEY KL%
1,000,000 % 14! 1,000
OF0IXXIME 0I2X AiEsE
500,000 %13 500
OFQUXIXIAE QIEY AFR2
17,0002 %12 204
OFQIRIXIMIE Hotg CCTV 22/
75,0002 * 128 900
PR 93,394 88,294 5,100
301 L2 S 93,394 88,294 5,100
07 S& - 01& - BHEBSEAZ 89,110 84,010 5,100
@I=r == 79,560
—Jles 300,0002% 17122 61,200
—d0a 300, 0002417 H%200% 10,200
==
20,0002 %17 x23|* 12 8,160
@LI == 50,0002 %892 4,450
O0IEZ SAlHl X
25,0002 % 122174 5,100
11 BAFAHIXIR2 4,284 4,284 0
OSEso €9 S F|&AT ZA
7,0002%51 128 4,284
ATD FOIHIANY 194,894 212,732 A17,838
ARD FOIHAALY 194,894 212,732 A17,838
401 AlAEHI 2SO 194,894 212,732 A17,838
01 Al&H] 193,500 211,202 A17,702
OARR FDIHEAAIY 193,500
—E7HI0IS S2REFBA
100, 0002 *200m 20,000
—S7HI0I2 AE243A
150, 0002 * 140m 21,000
—H=22 QT HH|ZA
20,000,000 %274 A 40,000
—SUMT 22 HH| A
100, 0002 % 150m 15,000
—H24 Hi2=2 FH| 2At
100, 000 %200m 20,000




2A: EHIS
NI SIS A (LUIBIHE/LCIEH)
Sl ARQ Z=DIHOIALY - F2l)
S - ZH - S9I(3]) - HIRA - BAS ] 2
—I2IAMZTIDESY & 2 FH 2
=2 ZE ZA 250, 0002 *90m 22,500
—FORISRE Y SS2RAY
5,000,000 %574 A 25,000
-2 52 S A+ MAH
1,000,0002 % 107H A 10,000
—ZHH OIS EH|ZAt
5,000, 0002 *47H A 20,000
03 Al&SCHHI 1,394 1,530 A136
OARR FOIHAAIY AlL2OHY]
1,394,0002 % 14! 1,394
HYSHAH(FR1S) (DIEHIIEH 148,748 142,988 5,760
ol 2| 52,890 52,044 846
NEEST 52,890 52,044 846
101 2124H] 52,890 52,044 846
01 B2 52,890 52,044 846
OAlRZt2I2244
11,1302 1136 A 2+ 122 52,890
DIEET 95,858 90,944 4,914
J1=H 95,858 90,944 4,914
201 L2 A 44,018 39,104 4,914
01 AFR2t2IHI 29,478 28,386 1,092
O=AEX 74 20,000 %128t Ax 122l 2,880
OS20H4l| 8,000 x441x 1224+ 12 4,608
OLBtEaB 100, 00084+ 122 1,200
Oar2 TA7PH| 50,0008 %122 600
OARD 24 5,040
—=2AD| =2l 500,000 1CH 500
—Zelf =l 100,000 %2CH*50/ 100 100
—=ADI EH 200,000 %53+ 1CH 1,000
—T2IE EL(E%)
200,000 x53x2CH 2,000
—D2IH EU(ZEN)
200,000 33+ 1CH 600
—PC =cl 100,000 %12CH20/ 100 240
—JIE 22| 50,0002 122 600
OJIEF AFR22lH] 5,0002 %128 * 122 720
O - =2Y| 14,430
—2H 60,0002+ 12116 6,960
—=3 30,0002 * 12249 7,470
02 2329l 14,540 10,718 3,822
ORER= 300,000+ 12& 3,600
OFIIR2 800,000 %122 9,600
Otlot=ER23 70,0002 %122 840
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